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A4 S jw w?

x(t)=tsgn(t)
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4.32 Bidmx(t) A x(t)4] B IFis

(a) KX(w),5HTX(w), & B aug B
(b) BX(w)Kx(0) 85 EF5HAF 27T 2 3,8 th 48 F 18-FoA

1 Qg?

#: (a) {é\{l].%Q]
\'Q = E IG4 (1)
§ G, (1) <> 4sin c(2w)
% G, (1) <> 2sin c(2w)
F1 B H 35 %f@(r) & j2[sin c(2w)]

]
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dwcos2w—2sin2w _ j2 T 51n2w)

X (w)= j2 = 2% (cos
( i 4w? w 2w

= _i[sin c(2w)—cos 2w]
W

S
X(w) kit i %wmg@Q
il Ei®
(b I;}X(h'l"“) \Q(bj' =4 W, = _T;} 2 kwn 2
%Jim[mncdﬂ} cnsﬂ]—jiﬂ[siﬂ —cosTk ]
2
_ L1
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4.36 S5 BP4.36AT TAEFx() & Lot TR
X(w)=|X(w)e™®™
HARGEAG et BB RCR ’Vﬁé?ﬁ}ﬂﬁf-}
(@a)p(w) ()X @)

©f X w)dw @!F "Re[X (w)]}t4 B

Bl ey 1§ 0)*G,(®)]._,_,

X (w)=4sinc’*(w)-e™ "

O(w)=-w
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(b) X(ﬂ)=Tx(r)dr=%.4.z=4 ZABER

©) j X (w)dw = M(g):r

(@) F-‘{Re[x@“]} Ev{x(t))
Ev{xmﬁ=5[x(r)+x(—r)1
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| F7'{Re[X (w)]}
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